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int 010N DIP A7 PW X YW :NINON Y2IR H10 200
int DN QPN YW y MW

char 01901 221577 YW 7780
string 01901 23137 YW Yax:

: Star poman pwnnn Pon 1

public Star() 1291w VHPY ORNT2 2210 AN 77O
public Star(int x, int y, char shape, string color) 0 72¥17 2°VNIDY ORNTA 2910 712 R
public Star(int x, int y) (*) 2910 NTI¥2 X,y DIP°1M2 2913 712 AWON

125 vaxa
public void Show() TonT 9V 251377 IR 738N 790N
public int GetX() DIPOAN HW X MY DR 77T 72V
public int GetY() DIPRI PW y MW DR 73700 72907
public char GetShape() 221377 YW 77X DR 70T AW
string GetColor() 221977 SW ¥2A¥T DR 770N 7905
public void MoveStar(int dx, int dy) "or7vx" dx , dy - 222137 DR AT 3900
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Console.SetWindowSize(80,50); nRT77 °7° 9¥ JON7 NAXN DR 9730 .
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.J0Mn PY 22D DR AXT A
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2912701 INMIX NR 09777 ,(0,0) ATIPann N2 PN 22157 X NN
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:NPI0NT YV V¥ N
Star myStar;
for(inti=3;1<=15;1i=1+3)
{
myStar =new Star(i, 1);
myStar.Show();
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